

Algebra - Aufgaben: Gleichungen 4

1. a) $8 + 6x = 20$ b) $-3 + 5x = 17$ c) $4x - 12 = 44$
 2. a) $1 = 13 - 6x$ b) $10 = 24 - 7x$ c) $-9x - 144 = -36$
 3. a) $19 - x = 100 - 10x$ b) $3x + 1 = 5x - 3$ c) $19 - 2x = 8x - 16$
 4. a) $4x + 15 - x = 54$ b) $5x + 2 + x = 26$ c) $-x + 8 - 3x = 0$
 5. a) $17 = 17 - 12x + 3x$ b) $31 + x = 111 - 7x$ c) $21 + 8x = 30 + 5x$
 6. a) $11x - 41 = 10x - 31$ b) $5x - 5 = 15 + 3x$ c) $4x - 16 = 19 - 3x$
 7. a) $8x + 22 - x = 100 - 11x - 42$
 b) $9x = 7x + 16 + 5x + 7 - 10x$
 c) $19 + 3x - 23 = 10 + 2x - 34$
 8. a) $29x + 39 - 34x = 49 - 20x - 10$
 b) $4x + 4 - 7x = -8x + 2 + 5x - 4$
 9. a) $8x - 17 + x = 9x - 13 - 4$
 b) $9x - 16 = 10x - 9 - 4x + 5$
 10. a) $0 = 14 - 8x + x - 3x + x + 4$
 b) $9x + 34 - 6x - 33 + 2x = 9$
 11. a) $11x = 8x + 15 + 6x + 6 - 10x$
 b) $27x - 9 - 17x + 10 = 45 + 5x - 4$
 12. a) $7x - 6 + 5x - 4 + 3x - 2 + x - 4 = 0$
 b) $18 = 93 - 6x - 11 - 4x - 5 - 2x + 1$
 13. a) $12x - 10 + 8x - 6 + 4x - 8 = 0$
 b) $6x - 13 + x - 1 + 12x - 15 - 10x + 2 = 0$
 14. a) $19x = 5x + 2 + 5x + 3 + 7x + 3 + 6$
 b) $36 + 12x - 19 - x + 10 - 8x = 0$
 15. a) $21x - 21 - 7x + 7 = 7x + 21 + 14x - 7 - 19x + 26x$
 b) $121x + 49 - 234x + 3 - x = x - 56 - 115x + 108$
 16. a) $\frac{x}{4} - \frac{x}{5} + \frac{x}{6} - \frac{x}{8} + \frac{x}{12} + \frac{x}{12} = 11$ b) $\frac{7}{3}x + \frac{7}{6} - \frac{7}{2}x + \frac{1}{3} = 3 - \frac{1}{4}x$
 17. a) $(-0,7)^3 + 5,94x - 9,02 + 2,63x + 11,31 = 6,24x - 6,263 - 1,11$
 b) $0 = 12,9x - 1,45x - 3,29 - 0,99x - 11x + 0,32$
 18. a) $2x - \frac{2}{3}x - \frac{3}{5}x = \frac{3}{2}x - \frac{1}{2} - \frac{2}{5}x + 2 - \frac{2}{3}x$
 b) $-0,5x + 9 = \frac{3}{2}x + 4 - \frac{6}{5}x + 0,2$
 19. a) $5x - 9 = 3x + 7$ b) $2x + 11 = 8x - 10$
 20. a) $126 + 7x = \frac{1}{3}x - 44$ b) $7,5 - 2,4x = 3,1x - 9$
 21. a) $\frac{1}{2}x - \frac{1}{8}x = 2 + \frac{1}{4}x$ b) $\frac{1}{3}x + \frac{1}{3}x - 13 = \frac{1}{6}x$
 22. a) $\frac{4}{3}x + 18 = \frac{1}{3}x + 0,2x + 2$ b) $1,5x - 8,5 = \frac{1}{24}x$
 23. a) $\frac{0,64}{3}x + 0,5x - 0,43 = x$ b) $\frac{2,75}{9}x - \frac{x}{0,72} + x + 6 = 0$
 24. a) $\frac{2x+5}{3} = x + 4$ b) $\frac{8+12x}{19} = \frac{6x-7}{4}$
 25. a) $\frac{3x-6}{5} - \frac{1-15x}{2} = 1$ b) $\frac{13x+8}{6} - \frac{1}{3} = \frac{3}{5} + \frac{6-11x}{15}$
 26. a) $\frac{5x}{36} + \frac{1}{3} = 0$ b) $\frac{3x-7}{5} = 4$
 c) $5 = \frac{28+0,7x}{7} + 0,85$ d) $3 + \frac{8-11x}{6} = \frac{2}{3}$
 27. a) $4(2x-3) = 2(3x-4)$ b) $(25+3x) \cdot 7 = (7+25x) \cdot 3$
 28. a) $13 - 3(5-x) = 7(x+1) - 13$
 b) $5(2x-300) - (150-x) \cdot 2 = 3x$
 29. a) $3(1,8+3x) - 26 = 9 - 5(1,5x-2)$
 b) $0,75(7x-16) - 0,25(9x-60) + 1 = 0$
 c) $5\left(\frac{x}{3} - 26\right) - 3\left(\frac{x}{4} + 3\right) = \frac{x}{2} - 14$
 d) $\frac{1}{7}\left(1 - \frac{2}{3}x\right) - \frac{3}{4}\left(\frac{x}{2} + 1\right) = \frac{1}{2}(2-x)$
 30. a) $3x + (9-x) = 13$ b) $5x - (1+2x) = 11$
 c) $-(8-x) + 2x = 10$
 31. a) $9x - 2 - (7-2x) = 13$ b) $x - (2x - (3x-1)) = 101$
 c) $12x = -12 - (-12x-12)$ d) $5x - (3-4x) = 3^2 \cdot (x+4)$
 32. a) $9 - (5x+2) + (10+8x) - (3x-18) = x+20$
 b) $93 + 2x - (19x-15) = 100 - 7x - (11x - (5+2x))$
 33. a) $(25+12x) - (10x-11) = (12+6x) - ((12x+13) - (10x-11))$
 b) $-2x - (4 + (2x-3)) = (30-18x) - (2x - (3x-5))$
 34. a) $5(5+2x) = 9+4x$ b) $0 = 4(10-2x) - 3(x-5)$
 c) $3(9-x) = 5(x-9)$ d) $2^3(x-3^2) = 3^2(x+2^3)$
 35. a) $1(4x-3) + 3(9-18x) = 10(1-3x)$
 b) $7(3x-7) + 5(x-3) + 4(17-x) = 103 - 11x$
 36. a) $13x - 7(11-x) + 11 = 4x - 3(20-x) + 7x$
 b) $8(2x-3) - 5(2x-8) = 32 - 4(1-3x) + 8x$
 37. a) $3\frac{1}{2}x - 4\frac{1}{4} = 5\frac{1}{2}x - 6\frac{1}{6}$ b) $0,1x - 0,2 = 0,3x - 0,4$
 38. a) $\frac{1}{2}x + \frac{1}{3}x - \frac{3}{7} = -\frac{38}{7}$ b) $\frac{1}{3}x + \frac{1}{2} = \frac{1}{3}x + \frac{1}{2} + \frac{1}{6}x$
 39. a) $10x = 7\frac{1}{2}x - 3\frac{1}{2}x + 5\frac{1}{2}x - 3\frac{1}{2}x + 1 + 5x$
 b) $x = \frac{3}{2}x - \frac{2}{3}x + \frac{2}{4}x - \frac{2}{5}x + \frac{2}{6}$
 40. a) $\frac{4x}{3} - \frac{3x}{2} + \frac{4x}{5} + \frac{1}{6} = \frac{9}{5} - x$
 b) $-37\frac{13}{30} = \frac{x}{3} - \frac{x}{2} + \frac{x}{6} - 1\frac{5}{12}x + 2\frac{4}{5} - 3\frac{9}{10}x + 98$
 41. a) $47x - 43 = 73 + 41,5x + 7,2x + 16,6$
 b) $0 = 1,45x - 2,7x - 0,6x + 0,5x - 7,8 - 1,2$
 42. a) $18x - 7,52 - 2,35x = 5,381 - 2,9x - 0,58 + 13x$
 b) $1,45x + 3,29 = 12,9x - 0,99x - 11x + 0,32$
 43. a) $\frac{2}{3}(x-5) - x = 1 + \frac{2}{3}(11-2x)$
 b) $\frac{1}{4}(3x-16) = 2x - 3(5 + \frac{3}{4}x) + \frac{2}{3}(4-x)$
 44. a) $3x(x+7) - x(3x+7) + 70 = 0$
 b) $4x(6-3x) + 6x(2x+1) = 15$
 45. $(\frac{3}{2}x - \frac{3}{2}) \cdot 21x - (33x+5) \cdot \frac{1}{11}x = 277$
 46. $0,32x(1,25x-10) + (6,3-0,8x) \cdot 0,5x + 1 = 0$
 47. a) $x - (x - (x - (x-1) - 1) - 1) = 0$
 b) $1 - 2(x - 3(x - 4(x-5))) = 11(11-2x) + 2x$
 48. a) $6x - \frac{x-3}{2} = 5x + \frac{3+x}{2}$ b) $\frac{-x+3}{2} + 6x = \frac{x-3}{2} + 5x$
 Die Aufgaben 49 bis 51 sollen den Einfluß von Rundungen zeigen.
 49. a) $3,14x - 6,28 = -9,577$ b) $3,14x - 6,28 = -9,58$
 c) $3,1x - 6,3 = -9,6$ d) $3x - 6 = -10$
 50. a) $-1,27x + 9,51 = 9,88 - 1,22x$ b) $-1,3x + 9,5 = 9,9 - 1,2x$
 c) $-x + 10 = 10 - x$
 51. a) $3,14x - 7,28 = -8,193$ b) $3,1x - 7,3 = -8,2$ c) $3x - 7 = -8$
 52. $25\left(\frac{2}{15}x + \frac{1}{3}\right) - x + 2\left(\frac{x}{6} - 15\right) - 36x = 0$
 53. $x + 2[x + 3(x+4)] = 15$
 54. $\left[\left(x \cdot \frac{1}{2} + \frac{1}{2}\right) \cdot \frac{2}{3} + \frac{1}{3}\right] \cdot \frac{3}{4} + \frac{1}{4} = \frac{x}{2}$
 55. $1 - 5(4x-11) = 5[3x-7(2x-1)]$
 56. $1,5(3-5x) - [4(2,8+0,3x) - 10] + 9x = 0$
 57. $1 - (2+3 \cdot [(3x-8) - 2(8-3x)]) = 5(1-2x) - 2$
 58. $\left(\left[(x+1) \cdot 2 + \frac{1}{2}\right] \cdot 3 + \frac{1}{3}\right) \cdot 4 + \frac{1}{4} = \left(\left[(x+1) \cdot 2 + \frac{x}{2}\right] \cdot 3 + \frac{x}{3}\right) \cdot 4 + \frac{x}{4}$
 59. $5 \cdot \frac{x-2}{9} - (2x-18) \cdot 3 = \frac{7}{3} \cdot \frac{9x+10}{5}$
 60. $\frac{3}{2} \cdot \frac{3x+5}{6} - \frac{2(2x-3)-24}{5} = 1\frac{1}{4} - \frac{(x-270) \cdot \frac{1}{5}}{9}$
 61. $\frac{4}{3}(x+4) - 3\left(\frac{3x-1}{4} - x\right) = 2x - 11$
 62. $\frac{7\left(\frac{x}{3} - \frac{1}{2}\right)}{16} + \frac{2}{3} \cdot \frac{4x+2,5}{8} - 3\left(1 - \frac{x}{64}\right) + \frac{17}{32} \cdot (x-2) = \frac{1}{192}$